oo ooooon

gbobgbbodgoogooooboobbbbuoooobooooouobobood
gogobobodgbbdgbbbooduuoobooooboboboooobboooan
ooooooboooooboboboboooobobobbob HeO OO o
00000000000 000 1~2arcsec (1000km)000000000000COO0
(0000) 000000 UOHeOOOODOOOOOOOOOOODODODOOOODODOOOO
000000000000 00000 6km/s0000000O0OOOOOOOOOOO
gooobboobgoobobbood

0000 (OD0)000060000000000000000DO 100000000
goodbiobbodbodboouboobbbodboobbooboobonog
gbobbogboboboggbbobbooubooouboboooobbobbbob
guobuoggoggbgobbbooouoobbbbuobbbooboboobboonooo
guoboboobooboouboboobooboubbobdboobooobobbo
gobbuouobobodbboubogobooouubboobuooobooooob oo
gugboogbobugboodboogboboobuooboonobobbooobbn
good

gbobougbgbobboobbbdobuobuooobooboboooooobognboo
goboggboguobboooobbuooooobbuobobooooboboooboboon
gooooboobbb KOoOHODOODDbOoOooooooooooobooooooobo
godgobodgbbobooodoobobooooobuooboobboobobbon
gboogobooogn

150 -

100 -

50 -

Y Position (arcsec)

6564 6563 6562

Wavelength(angstrom) X Position(arcsec)

0:000000000000000000000000 O:HeDDOOOO 0:000
000000 (HeOO —06A00000000)

(00 O 0)

30



